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General Instructions :

1. The question paper consists of four sections - A, B, Cand D. Section - A consists of 8 questions
of 1 mark each; Section - B consists of 6 questions of 2 marks each; Section - C consists of 10
questions of 3 marks each and Section - D consists of 10 questions of 4 marks each. Question
No. 1 to 8 are Multiple Choice Questions where you are to select only one correct option out
of four given options.

2. All questions are compulsory.

3. In questions on construction, the drawing should be neat and exact as per the given
measurements. User ruler and compass only.

4. There is no overall choice. However, internal choices have been given in some questions.
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SECTION -'A' (@3-‘31))
Question number 1 to 8 carry 1 mark each.
T HEA 1 ¥ 8 T YIh U 1 3k A
1.  The number of non perfect squares between 25 and 36 is : 1
25 3R 36 & o= M ared gl o W HEA B
(@ 8 (b) 9 (0 10 (d) 12
2. If atable is purchased for Rs. 1200 and sold for Rs. 1080, then loss percent is : 1
f e T T 1200 T T THIET T SR 1080 F9C F o fzm @ o wf v @
(@ 12% (b) 11.1% () 15% (d) 10%
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3. After allowing a discount of 12% on the marked price of an article, it
is sold for X 880 then the marked price of the article :

TH TR W 12 TR G2 3 W TH 880 T H <= S ¥ g K AR

I €
(@) Rs.800 (b) Rs. 1000 () Rs.900 (d) Rs.1080

4. (y—5)(y+9)isequalto/3|'{'l?=l'{%:
(@) y*+4y-45 (b) y*-4y-45 (c) y*-4y+45 (d) y*+4y+45

5. Ifin the given figure /||lm, £1=80" then the value of £2is

Ife & T AR H [m S £1-80° A L2 H HA T :
(a) 80° (b) 180° (© 1000 (d) 120
m /

80°
< 2 1 > P

6. If a point lies on y - axis, then its x - coordinate is :

It @k fog y ote W feom & @ swat x e @

(@ 0 (b) 1 (© 2 (d) 3
7. Point A(4, 3) is at a distance of ............... units from x - axis
65 A 4,3)FT 3189 T T oo, THE €
(@ 3 (b) 4 © 1 (d) 7
8.  If a card is drawn from a well shuffled deck of cards, the probability of getting
aqueenis:

Tk 3o TE el g2 a1l ki Teel | W U I Fehrenl Sl ®, U S o 3T
T IfTeRar s

@ 5 0) = © 5 @ -

SECTION - 'B' (@S- ‘)
Question number 9 to 14 carry 2 marks each.

YT G&A 9 9§ 14 dh YIh U 2 ek 2
9.  Simplify (T HINT) : /99 x~/396
OR ( 27T )
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10.
11.

12.

13.

14.

15.

Find the smallest number by which 1100 must be multiplied so that the product
becomes a perfect square.

9% FaH BT HEA I hIC 9 1100 T T[OM A W THh 01 o F&a
=t 7

Simplify (93 HIfeT) : 33375%(-729)

Find the smallest number by which 8192 must be divided to get perfect cube.
98 Tl Bl &A1 A HifSC 69 8192 S AN 3 W Tk Ul TH HeAw
TS €l

In the given fig I||m, Z1=3x+5 and £2=2x-5then value of x is :

I < TS MBI H 1|m, L1=3x+5 AN £2=2x-5T Al x H A1 B

p
3x+5
1 /3 l

2x-5

A
\ 4

2

\/
2

A

/

Plot the points (1, 0),(2, 1), (3, 2) on the graph. Do they lie on a line?

fagstl (1,0),2,1), (3,2) & TH TF YR W 3ifehd St 1 3 fag T @
T e 77

A coin is tossed twice. Find the probability of getting exactly one head.

T fagd ol € 9 IS Sl R had Uh Tad M I WiiEeRdl ¥4
EAIEL

SECTION - 'C' (@8- ‘W)
Question number 15 to 24 carry 3 mark each.

U & 15 9 24 9F TI® Y B 3 37 =

The length and breadth of a rectangular field are 405m and 80m respectively.
Find the length of each side of a square playground whose area is equal to the
area of the rectangular field.

Teh SRR ©d i o lg 3] =ISE HHl: 405 . 3 80 . &1 I MR
A & HIE HI ol H NS A R TR &R AR ©d &
&A% & TR Bl
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16.

17.
18.

19.

20.

21.
22.

Find the square root of 2.5 correct to 2 decimal places.

2.5 1 TS SIEAD & 2 TIAl T Rl A RIS

0512 [0.04
Evaluate (T3 &HIfsT) : 3 B el
valuate ( ) {0323 Voao

Find the smallest number by which 5400 be multiplied to make it a perfect
cube?

AW o

I8 B H Bl G&A FA I TSI 5400 I TON FHH R Th QU o7 G&A
= =

A loaded truck travels 14 km in 25 minutes. If the speed remains the same, how
far will it travel in 75 minutes?

T A g T 25 e H 14 Rl ) g0 7 a1 ?1 75 faee o 9w TRt
T T FHIN AR TR MG I @2

OR ( 379d)

In a camp, there is enough provision for 500 students for 30 days. If 100 more
students join the camp, for how many days will the provision last now?

T $9 T 500 faenfii & fow 30 &9+ wafa ToF 9t 21 afs 100 feemef

3R %Y H Inial B W4 € dl sase Tk 9g e fea fo =em?

Rajan purchased 250 packets of blades at the rate of ¥ 8 per packet. He
sold 70% of the packets at the rate of ¥ 11 per packet and remaining at the
rate of ¥ 9 per packet. Find his gain per cent.

TS 3 =del & 250 e, T8 ufd Ufhe &1 X § @Sl 3E 70% Ufwe 311
yfg Ufere o1 <X 9 99 ST 9o 99 i 29 yfq Ufere a= SERT e giawd

RISECAIEL

Factorise (TUFEE HIfST) : p?-3pq + 2q°

In the given figure £Z4=75" and CE||BA.If ZECD=40°, then find 41, £2 and 43.
q M MPfd T £4=75° IR CENBA R AR LECD=40" B A 4, 2 TH 3 F
HY A IS
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23.

24.

OR ( 379d)

In the given figure, AD is an altitude of A4BC Show that

Ir -
45°
45°
g
B D [ lc
19
(@) BP|| 4D (b) CQll4D (c)  BP|ICQ.Give reasons.
& T Mpid § A4BC B AD Afier ©1 fogy wifeg
(a) BP|| 4D (b) CQO|AD (c) BP|ICQ.HRU H FarC]

The sales of goods during the years 2000 to 2003 of a particular shop are given in
the following table.

Years 2000 2001 2002 2003
Sales (in Lacs) 1.5 1.8 2.4 3.2

Draw a graph to show this information.

ad 2000 ¥ 2003 T Teh HMSR & WM i foent = oot & € T 2

ek 2000 | 2001 | 2002 | 2003
fael (am@ #) 1.5 1.8 2.4 3.2

TR U T RSl 1 WH & T Ah AR

Alternative question for visually challenged students in lieu of Q. 23
gfte anfa faenfef=n & faw w. 23 w1 defeus woa

Factorise : ([OM@IUE WHITST) (16x* - 24xy + 9y?) - 252

There are 40 students in a class. Their ages are as follows. Construct a frequency
distribution table with classes as 5-10, 10-15 etc.

13 21 6 5 8 17 14 13 6 6 7 8
15 16 9 10 10 9 7 8 5 14 12 11
9 7 6 8 9 0 13 17 17 16 12 12
9 8 13 14

Which class interval has the highest frequency and which has the lowest.
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25.

26.

Th w40 Terneff @ e oY 39 UK 21 o stwwe S T 5-10,

10-15 SIS ST FANT hich SFIAl TR0 34|

13 21 6 5 8 17 14 13 6 6 7 8
15 16 9 10 10 9 7 8 15 14 12 11

9 7 6 8 9 10 13 17 17 16 12 12
9 8 13 14
fohg o1l STaUel ] INHARAl a9 1Y aur fhe # ges &H 87

OR (94T )

A fair die is thrown once. Find the probability of getting

(@) amultiple of 2.

(b) anumber more than or equal to 4.

(c) anumber less than 4.

Teh SAMFTA O ol Toh SR el T WITehdl A <hitsq, foh
(a) 2 =1 OIS AT

(b) 4 A 4 T ISt & A

(c) 4 9 3 T&A AW

SECTION - 'D' (@38-‘T))
Question number 25 to 34 carry 4 mark each.

U9 G& 25 9 34 9% TI® Y B 4 37 =l

Students of Class VIII came to know that one of their classmates Shilpa was
not able to continue her studies due to lack of money. They decided to help
her by collecting money for her. If the total money collected was Rs. 7056 and
each student paid as much money as the number of students in the class.

(@) Find the number of students in the class.

(b) Write the value reflected in this situation.

Ml hel & SEl HI Yl del 6 SAhl TH HeUS! Rew A TS,
Y9 1 HH ® HRO S @ W@ W @ IHH SHHB! R HH *
faq U gehgT Y 1 ShEen R g | s Al TU€ 7056 B Al

(a) & | BET &l G& J@ SIS

(b) BT H1 7€ HG T goai 1 swiar &2

A shopkeeper has enough money to buy 40 books each costing ¥ 125. How many
books he can buy if he gets a discount of Rs. 25 on each book?

Teh THRR & T 309 98 & % 9% 40 fohae @lic g a8 & %1 9
125 ¥9T | 3R 38 & fhae W 25 T9C 1 g2 ot @ 98 fhat ferare
T Hehal ©7
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27.

28.

29.

30.

31.

A train 270m long is running at 80 km/hr. How much time will it take to
cross a bridge 130m long.

270 T el Tk et 80 fehetiier wfa s w1 wfq ¥ wer W g1 T 130
WX &d g ol IR A H I8 Tohal 99g @M ?

A shopkeeper allows 25% discount onthe marked price of the sarees and still makes
a profit of 20%. If he gains X 225 over the sale of one saree. Find the marked price
of the saree.

Teh THMGR WA & Afhd o W 25% B 3 & &% ot 20% N e 2|
IfE IHH! Tk WE! i o= W 225 TIC H1 A9 Bl &l b Hel i Afehd
qed J1d iU

OR (AYaT)

A man sells an article at a profit of 25%. If he had bought it at 20% less and sold it
for ¥ 36.75 an less he would have gained 30%. Find the cost price of the article.

Teh AT Teh o hl 25% M W Sl Bl SR o€ 39 20% HH ToA
TS 3 36.75 TUC G H o df 3Y 30% 1 AT S IE HT HT God A
SHifeT)

Ravi bought the following articles from a departmental store :
(i) Pair of shoes costing ¥ 700, VAT @5%.

(i) One television costing ¥ 10900, VAT @10%.

(iii) Clothes of ¥ 800 VAT @8%

Calculate the total amount of the bill.

[aWla)

a7 fafay fawa &= & F=fatea swqe el -
() %700 % Tk ST 5, 9 H X 5% ©

() 10900 Tk efifersH, 92 1 T 10% ©

() 800 % HUE, 9 i T 8% T

foa =t o Tfe T wifT)

Find the product using suitable identity :

Stea STSHITuTfaeh aquHe & S9Ar | U Fd iy

el o)
X+— || XxX—— x+—2 x+—4
X X X X
OR ( 31¥dT)
If 3x - 2y =7 and xy = 3 then find the value of (3x + 2y)~.

Mg 3x -2y =7 N xy =3 B A (3x + 2y)? T A A Hifery|

Factorise (T[UAGIE HITSIT) : pb - 256
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32. Draw a line segment PQ of length 7cm and find a point R on it such

33.

34.

that PR: RQ =2:3.

T WErEve pQ et darg 7 9.l €, difau iR S§ W s fag R 9@
HifsTe arfes PR:RQ =2:3 =l

Alternative question for visually challenged student in lieu of Q. No. 32.

. E. 32 % WM W ghe arfua faenfde & fau dewfeues woa

Divide (-1+x*) by (-1+x).

(-1+x¥) 1 (-1+x) & 9T HifSQ)

Construct the frequency distribution table of the following data with class intervals
as 0-10, 10-20, etc. Also prepare a histogram.

48 65 33 47 98 43 46 07 09 12 15 29

35 64 23 33 40 60 47 9 79 73 34 15

88 62 55 02 17 56

frfafed oridsl = IRaRdl IRel FA @Y § a7 S{ala 0-10, 10-20 SR

Bl 3R o fo ff s

48 65 33 47 98 43 46 07 09 12 15 29
35 64 23 33 40 60 47 99 79 73 34 15
88 62 55 02 17 56

Alternative question for visually challenged student in lieu of Q. No. 33.

U. ¥ 33 & WM W e aifq faenfd & fau demfeus gom
Naveen bought some cricket balls at ¥ 250 for 4 balls and sold them
at ¥ 340 for 5 balls. Find the gain or loss percent.

T o HB fhehe & T 2250 HT 4 T & 9@ F @IS T T 340 Hi
5 7(&f & 99 W A I IR A9 AT B Y@ TG RIS

The following Pie chart shows the monthly expenditure of a family
on different items. If the total monthly income of the family is ¥ 8250
then answer the following :

(i) How much money is spent on each item.

(i) How much more money is pent on food than education.

11 9a fo ¥ Tk 9RER &1 STer- ST

FEgetl W mfgs @E @i T @) A

IRER &1 Ho WiFH T T 8250 &

Ffafed J9 & S ST ¢

(i) & R T HI T Al A 22

(i) @M W e 9 foha-r eife qfd
g w87

VIII-MATHEMATICS (8)



